A CIS 2of SiojLt Esio] Lajgt £= MA|D

17 measure

break ( n.)

incorrect

psychologist

0 ] O @

gene

11 conversation

13 widely

15 long time no see

B Ci= 222 SiEsis S0 ElojL Esis MA|2.

o o W
o
i

13 #|&@= SCf

15 ==siCt

19 2|C{AMS Level 5 WA 2(001~056)-Okindd 42 @

c© o AN

10
12
14
16

o o NN

10
12
14
16

accept
proper
thin
imitation
idiom
fresh

get results

throughout history

0|, CFS
dtsiS S|, Bigs|

h= A

2020.9. 17. 2% 12{34



A CIS 22[eko] 9| Hizio)| Siore ais MA|S.

a misunderstanding
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3 can stand it
4 an

on plants
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translation

expression

result

subject

1 :lwill send her some flowers as an

» |'ve never heard that

2 *She gota great

* The program is the

from the test.
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of my thanks.

, 50 | can’t understand it

of ten years of research.
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. a copy of something

> a short period of time when you rest

. hot containing any things or people

:a part or quality of someone or something that is not good or
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1 She was disappointed because there were { few / little ) people at the party.
2 There were (few / little ) people in the subway. It was almost empty.
3 |drank{ few /little ) water all day. I'm very thirsty now.

4 | need ( alittle / a few ) money to buy some food.

B Ci=S 220 8= 7l 25 Hi=H| DXL,

1 They has left the theater before the movie ended.
2 The concert had already starting when | got to the theater. @
3 She could go on the trip because she has finished the work:

4 |t get dark before | arrived home.
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1 As prices go up, people buy less.

=

2 Asyou grow old, you will become wiser.

=

3 As she was taking a walkin'the park, it began raining.

=

& As you read more books, you can learn more.

—
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{ by Chinese / know this / has been influenced / but few people / English')

LIRS 2 717F =0 22l LIS 0| '=0IRICK

2

{a few leaves / snow covered tree /remain fon the

{ each person / the professor measured / that / had burned / the calories’)

SoL}, BillS A2 1,0672=2lF oA, GE

4 Tims 3,0158=2S g4

Cwhile Bill had burned / 3,015 calaries / only 1,067 calories /Tim had burned)
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{any more / your brain / and it cannot take in / as you study more / becomes full’)

S22, 09| 7|91={0] Cf LisAl= 2 2ic)

6 JamesZt LIo]

As
{seems to /James grows older / get worse [ his memory )
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